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Chapter 6 Test Review

Graph each function.
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Siven f(x) = 2x? F1 andg(x) =f (%x) + 1, graph g(x).
|

£x) = dx g7
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T 900= Axres
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iiven f(x) = |x 52| — 2 and g(x) = —2f(x + $1), graph g(x).
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riven f(x) = {x + 21 :; ;f : i write the rule for each function.

a) g(x) a vertlcal compression of f(x) by a factor of 4 y
/c(xa-f— 4 o ox e

£0%) S+
(X> {'/q(l’/x ) ! fx2l

b) h(x), a horizontal stretch by a factor of 2
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c) p(x), a horizontal translation 3 units left
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8) Consider the functions f(x) = 2x® — 3x% — 11x + 6,g(x) = 3fGx) and h(x) = ~gCx).

a) Find the x- and y- intercepts of g(x).
‘F(g) .
x-int? 0= 233 v 6
X-at=-3.%0 |

u= 3(0)3 3(0)™= 11¢0) +6
Sou-nr=6
b) Find the x- and y- intercepts of h(x).
@( x)
Xint=
-6.729, 2

y it = | &
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Given f(x) = x* — 5x — 14 and g(x) = x — 7, find each function.
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(c25x-19YH )
(£ +33(x\ = %" Yy _g)

mM@-HN
Ix)- {0\

(x7)- Cx Se19)
X-) —x" +5x +19
(Q-;)(Y")‘:-Xaf(ox +)

13)(§) @

-
X By - ). (xR

X7 (X*\)B N

a AR =X+, Moy /#'7

10) (f — g) (@)
o) - OCx)

(x —Sx—w) D)

X’ IS)’-JV - +7
G"O.)O’ Y= X “Cx=)

12) (fg)(x)
F(x} of (x) =
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Let f(x) = x— 2 and g(x) =;:—1-

15) Find f(g(—2)) and g(f(—2)).
8(7}):' -4 ‘P(‘g)f “L/
$HH=-lo gE=E

(o)) 5 — &
Fla(aN=-16  gli-oM=-%,

17) Find g(f (x)) and state its domain.
4 &

4= 6dH ~ x|
OQ’YOsh: {X IX¢-IE

16) Find f(g(1)) and g(f(1)).

e, = -
(D=2 q(-)= urck
Ho(y=a g U= und ehnrdl

18) Find f(g(x)) and state its domain.

pade &)-oo= 53 -2

Do,m\v;.'{xfxi—@

Find the inverse of each function. Determine whether the inverse is a function, and state its

domain and range.

19) f(x) =5-8x

20) f(x) = (%x 4 2)2

Lx-2)= o

2 X- a.
W 5-6 ) 5P I
X:g‘CFS R&]ﬁom: (-QA’;@) X:(V55+9)3 X'é 1‘5
X-5= _4 ange : (-9, )
s 3RS e hgra G058k
-& i !ﬂ \}—; - = '/3,3 QOQ'YIO!M :ITEC)K GA))
a : 1-C,
21) f(x) = o —bx 2) f(x) =3+Vx—5 Nd’ﬂ&q Rmc+ff
Y Qéx . = 3+ \j)(—{ o B,
(j: Dxtd Ix Q:: ):3-; At J? £ (x)= ()""&)*S'
X ;’J% 5:"%;'{ =3 = 3@—? Rmmm 2 (4 62)
(2 ﬁ)i ¢ Daomi(-2000%) (x-B=ys " (5.

Jux Hox =5 |
“ i Fm(“kcfn
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